Given that the logical operators nand and nor are the opposites of and and or, fill in the code outline below to complete one of them without using and or or. (fill in the blank with the operator you choose):
(define-syntax _____
(syntax-rules ()
  [(_) #t]
  [(_ e1)
  [(_ e1 e2 …)
)
)






What would the following code snippet print after being run:
(define wonder
  (lambda (cc num)
    (display num)
    (if (zero? num)
	(display cc)
	(wonder (call/cc (lambda (k) (k (+ num cc)))) (- num 1)))))
(wonder (call/cc (lambda (k) (k 1))) 4)

Output: ________




Answers:
(define-syntax nand
  (syntax-rules ()
    [(_) #t]
    [(_ e1) (not e1)]
    [(_ e1 e2 ...) (if e1 (nand e2 ...) #t)]))

(define-syntax nor
  (syntax-rules ()
[bookmark: _GoBack]    [(_) #t]
    [(_ e1) (not e1)]
    [(_ e1 e2 ...) (if e1 #f (nor e2 ...))]))

Output: 4321011
